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In the two sets given below, Set-1 provides the different levels of learning according to

Bloom's Taxonomy, while set-II gives their examples and concerns. Match the two sets and
select from the options to indicate your answer :

Set-1
(Levels of Learning)

(a) Memory level
(b) Understanding level
©) Analysing level
(d) Creating level
Options :

@ (O (c)
(1) a) @ (iii)
(2) (1) (i1) (111)
(3) av) () @
(4) @y Q) @)
Options:

645350612949, 1
64535081200, 2
E4E35081201. 3
EAE35061202. 4

@)
(11)
(111)
(v)

(d)

(iv)
@av)
(i)
(i)

Set-I1
(Examples)

Identifying examples of a given concept
Generating new ideas
Recalling information

Isolating information into parts

Question Number : 1 Question Id : 64635015598 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535061299,

1
E4E35081200. 2
E4E35061201. 3
BAE35081202. 4

Question Number : 2 Question Id : 64635015599 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Diagnostic Evaluation ascertains

(1) Students performance at the beginning of instructions
(2) (Causes and remedies of persistent learning problems during instructions
(3) Degree of achievement of instructional objectives at the end

(4) Learning progress and failure after instructions

Options:

4835061203, 1
4535081204, 2
64535061205, 5
64535061206, 4

Question Number : 2 Question |d : 64635015599 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535061203, 1
64535051204, 2
64835081205 2
4535081206, 4

Question Number : 3 Question Id : 64635015600 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Among the following which one1s an example of instructional software?

(1) Audio podcast

(2) Printed material or book
(3) Radio talk

(4) Edusat

Options:

64635061207, 1
64535061208, 2
64535061209, 2
48350812104

Question Number : 3 Question Id : 64635015600 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535081207, 1
E4dEZ50E1308. 2
E4B250E812089. 3



EAE35061210. 4

Question Number : 4 Question Id : 64635015601 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which teaching aids enhance the skills like reading, listening and pronunciation?

(1) Audio-lingual teaching aids (2) Scientific teaching aids
(3) (General knowledge teaching aids (4) Theoretical based teaching aids
Options:

E4E35061211. 1
EAE35081212. 2
64535081213, 3
64535061314, 4

Question Number : 4 Question Id : 64635015601 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535061211, 1
64535081312, 2
E4E35081213. 3
EAE35061214. 4

Question Number : 5 Question Id : 64635015602 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



From the list given below identify the instructional events which form part of the structure
of a lesson plan. Select your answer from the options given below the list

List of instructional events :

(1) Gainming attention of students

(11) Prior knowledge of students

(i11) Informing the learner of the objectives

(1v)  Stimulating recall of pre-requisite learning

(v) Checking the availability of reading material in the library.
(vi)  Eliciting the desired response

Options :

(1 @ ay )  av)
(2) @) @y vy )
(3) @ @@ W (vi)
4) @) ) @) @)
Options:

64535061215,
645350613216,
48350613217,
4535061218,

[ N

Question Number : 5 Question Id : 64635015602 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635061215, 1
48350813216 2
4535061217, 5
64535061218, 4

Question Number : 6 Question Id : 64635015603 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Think-aloud procedure is

(1) a part of secondary source of data
(2) a technique used to investigate learner strategies and performance
(3) a strategy of testing learners’ aptitude by providing primary sources

(4) a necessary method in scientific research

Options:

64535061219, 1
64535061320 2
48350813221, 2
4535081222 4

Question Number : 6 Question Id : 64635015603 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

64535061219, 1
48350813220 2
4535081221, 2
64535061322, 4

Question Number : 7 Question Id : 64635015604 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Participant observation is a part of

(1) Philosophical research
(2) Mentalist Theory of language
(3) Mathematical research
(4) Ethnographic research

Options:

64635061223, 1
64535061324, 2
64535061325 2
E4E35081326. 4

Question Number : 7 Question Id : 64635015604 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535061323, 1
4835081324 2
4535081225 2
64535061326, 4

Question Number : 8 Question Id : 64635015605 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Plagiarism in research is

(1) Creative use of previous data

(2) Copying unscrupulously and malking use of 1t

(3) Quoting someone and citing him/her

(4) Referring to previous data and working over it with new objectives

Options:

64535061327, 1
E4E35081328. 2
4535081229 2
64535061220, 4

Question Number : 8 Question Id : 64635015605 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635061327, 1
64535061328, 2
64535061329 2
4835081220 4

Question Number : 9 Question Id : 64635015606 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A university teacher plans to study the effect of level of aspiration of students in terms of
their socio-economic background on their scholastic performance at the term end evaluation
conducted by an external testing agency. What 1s the dependent variable in this study?

(1) Level of agpiration of students (2) Socio-economic backeround of students
(3) Scholastic performance of students (4) Term end evaluation
Options:



E4E35061221. 1
64535081232, 2
64535081233, 3
64535061324, 4

Question Number : 9 Question Id : 64635015606 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535061331, 1
E4E35081332. 2
EAE350612333. 3
EAE35061224. 4

Question Number : 10 Question Id : 64635015607 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Critical language testing 1n a research report 1s

(1) Testing language from an ethical point of view, revealing 1ts misuses
(2) Evaluating the stylistic characteristics of language

(3) Critiquing the ideology of the author

(4) Observing the gender role played by language

Options:

64635061235, 1
64535061336, 2
64535061337, 2
4835081238 4

Question Number : 10 Question Id : 64635015607 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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EAE35061235. 1
64535081236, 2
64535081237, 3
64535061328, 4

Sub-Section Number: 2
Sub-Section 1d: 646350742
Question Shuffling Allowed : Yes

Question Id : 64635015608 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension

Unquestionably a literary life 18 for the most part an unhappy life, because if you have
genius, you must suffer the penalty of genius; and if you have only talent, there are so many
cares and worries incidental to the circumstances of men of letters, as to make life
exceedingly miserable. Besides the pangs of composition, and the continuous disappointment
which a true artist feels at his inability to reveal himself there is the ever-recurring
difficulty of gaining the public ear. Young writers are buoyved up by the hope and the belief
that they have only to throw that poem at the world's feet to get back in return the laurel-
crown; that they have only to push as a new light 1in hiterature. You can never convince a
voung author that the editors of magazines and the publishers of books are a practical body
of men, who are by no means frantically anxious about placing the best literature before the
pubiec. Nay, that for the most part they are mere brokers, who conduct their business on the
hardest lines of a profit and loss account. But supposing your book fairly launches, its perils
are only beginning. You have to run the gauntlet of the critics. When you are a little older,
vou will find that criticism i1s not much more serious than the bye-play of clowns in a circus,
when they beat around the ring, the victim with bladders stung at the end of long poles. A
time comes in the life of every author when he regards critics as comical rather than
formidable, and goes his way unheeding. But there are sensitive souls that yield under the
chastisement and, perhaps after suffering much silent torture, abandon the profession of the
pen forever.

Sub questions

Question Number : 11 Question Id : 64635015609 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Literary life 1s unhappy because

(1) One has to carry the load of being a gemus while not being one
(2) The geniug can still remain a genius and be amidst misery in the face of adversity
(3) Talent brings pseudo happiness

(4) There 1= a constant desire to outshine others

Options:



EAE35061239. 1
64535081240, 2
64535081241, 3
64535061342, 4

Question Number : 12 Question Id : 64635015610 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Young authors aspire to

(1) Equate themselves to the established authors
(2) Remain content in their work only
(3) Achieve glory by their merit yet always in a hurry

(4) Become critics subsequently
Options:
64635061343, 1
64635061344, 2
£4835061345. 3
64635061346, 4

Question Number : 13 Question Id : 64635015611 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The perception towards the publishers and critics in the above passage 1s

(1) That of a scathing attack
(2) That of sympathy
(3) That of generosity

(4) That of cynicism

Options:

4635061247, 1
64535061248, 2
64535051249 =
64535051350 4

Question Number : 14 Question Id : 64635015612 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Experience and age of an author

(1) Makes the author stoic to criticism
(2) Makes the author angry and lovely
(3) Turns the author to a buffoon

(4) Drives the author to cynicism

Options:

64635061351, 1
64535061352, 2
64535061353 2
4835081354 4

Question Number : 15 Question Id : 64635015613 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The effective way of tackling criticism 1s

(1) To defend onesel f through print media
(2) To be vocal about one's craft
(3) To become a critic of one's own art and start analysing i1ts merit

(4) To be gracefully glued to the artistic exercise

Options:

645350613551
64535061356, 2
64535061357, o
64535061358, 4

Question Id : 64635015608 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension
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Sub questions

Question Number : 11 Question Id : 64635015609 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635061339, 1
4535081240 2
64535081241, 5
64535061242 4

Question Number : 12 Question Id : 64635015610 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

48350613243, 1
64535081244, 2
64535061245 5
64535061346, 4

Question Number : 13 Question Id : 64635015611 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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64535081347, 1
E4E350812458. 2
E4E35061245. 3
B4535081250. 4

Question Number : 14 Question Id : 64635015612 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
453506135101

E4E35081352. 2
EAE35061353. 3
E4E35061254. 4

Question Number : 15 Question Id : 64635015613 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64535061355 1

E4E35081356. 2
EAE35061357. 3
E4E35061258. 4

Sub-Section Number: 3
Sub-Section Id: 646350743
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635015614 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following are barriers to effective communication?
(a) Physical noise (b) Semantic noise
(c) Psychological noise (d) Non-semantic noise

Choosge the correct answer from the options given below

(1)  (a), (b) and (d)
@  (a), (b) and (¢)
3  (a), © and (d)
(4) (a) and (d) only

Options:

64535061359, 1
E4E350813260. 2
4535081261, 2
64535061362, 4

Question Number : 16 Question Id : 64635015614 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

646350612359, 1
64535061360 2
64535061361, 2
E4E35081362. 4

Question Number : 17 Question Id : 64635015615 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Non-<content behaviours such as rate of speaking, loudness, tendency to interrupt and

pronunciation peculiarities’ are referred to as behaviour.
(1) Extra-personal (2) Animated

(3) Extra-linguistic (4) Involuntary
Options:

E4E35061263. 1
64535081264, 2
64535061365, 3
64535061366, 4

Question Number : 17 Question Id : 64635015615 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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EAE35061363. 1
64535081264, 2
E4E535081265. 3
64535061366, 4

Question Number : 18 Question Id : 64635015616 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a classroom, delayed feedback can happen due to

(1) Use of technology (2) Ezxpanded communication
(3) Semantic noise (4) Partiapatory environment
Options:

E4E35081367. 1
EAE35061368. 2
E4E35081269. 3
BAE35081270. 4

Question Number : 18 Question Id : 64635015616 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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EAE35061367. 1
E4E35081268. 2
64535061369, 3
64535081370, 4

Question Number : 19 Question Id : 64635015617 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In analog communication, contents are considered to be

(1) Convergent (2) Static
(3) Physical (4) Ethereal
Options:

E4E35081371. 1
BAE35061372. 2
EAE350812373. 3
64535081274, 4

Question Number : 19 Question Id : 64635015617 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E4E35061271. 1
BAE350812372. 2
64535061373, 3
64535081374, 4

Question Number : 20 Question Id : 64635015618 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following :

Set-l Set-11
(Communication elements) (Description of process part)
(a) BSender (1) Brain
(b) Receiver (11) Electro-magnetic impulses
) Message (1m)  The central nervous system
(d) Medium 1v) Sensory organs

Choose the correct answer from the options given below

@ (b (©) (d)

(1) @ (i) (i1) av)
(2) ) @ av) ()
(3) av) @ (11) (i11)
(4) @ Gv @ Q)
Options:
64535061375,
E4E3506137E.

EABE3S0E1377.
EAE350612375.

o LIRS

Question Number : 20 Question Id : 64635015618 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



¢ gHfeTa i

gz - 1 gz - 11
(T3YT F aed) (seRH- 9T 1 faaa)
() HIUTH @) afEass
(b) =AIEH (i) AeraesFg e
(c) ®@ew (i) PR S T
(dy W (v) HaE
A=t e g frew # & adt 3w 9w

1 @-@, b -0), -0, d-av
@  (@-@), b)) -0, ©-av), d - @)
@) @-av), (b -Q), ) - @), (d) - (u)
@  (@-), ®)-av), ©-an), d -0

Options:

64535061375, 1

64535061376 2

4535081377, 3
EAE3508137E. 4

Question Number : 21 Question Id : 64635015619 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Choose the missing term out of the given alternatives

TEF, UGH, , WKL
(1) CMN
2 UJ
3  VIJ
4  IJT
Options:

B4E35081275. 1
64535061380, 2



EAE350612381. 3
EAE350812382. 4

Question Number : 21 Question Id : 64635015619 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e fou o fasen & faa wum 6 qfd Fifomg
TEF, UGH, , WKL
(1) CMN
@  UJI
3 VIJ
@ LJT
Options:

EAE350612373. 1
E4E35081280. 2
E4E35081281. 3
64535061382, 4

Question Number : 22 Question Id : 64635015620 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The sum of deviation taken from which of the descriptive statistical measure 1s always equal

to zero?

(1) Mean
(2) Median
(3) Mode

(4) Percentile
Options:
E4dE350813835. 1
4535061354, 2
64635061385, 3
64635061356, 4

Question Number : 22 Question Id : 64635015620 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Fefafiaa § o fora auiTers aifisrdl om 8 fae o feem #1090 923 3 g 2

(1)  weHH

(2)  HEATFHAN
(3)  SEEEA
(4)  wIdE =H

Options:
45350681353 1

EAEZ5081384. 2
E4E35061285. 3
EAE3506123586. 4

Question Number : 23 Question Id : 64635015621 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If x and ¥ are two positive numbers and x 1s 25% greater than », what 1s the value of the

ratio>?

X

(1) 0.75 (2) 0.80
(3) 1.20 @ 125

Options:

64535061387,
4835061388,
E4E35061289.
4535061290,

o IR

Question Number : 23 Question Id : 64635015621 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A x o y T T T § N xy T 25% At 2@ 2w oHE B
x

L 075 (2) 0.80
@ 120 @ 195
Options:

E4E350812387. 1
64535081288, 2
64535061389, 3
64535081330, 4



Question Number : 24 Question Id : 64635015622 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

5% of the inhabitants of a village having died of malaria, a panice set in. During this, 20% of
the remaiming inhabitants left the village. The population is then reduced to 4750. Find the
number of original inhabitants

(1) 5000 2 5250
(3) 6250 (4) 7500
Options:

64535081391, 1
EAEZ50813392. 2
E4E350612393. 3
E4E35081254. 4

Question Number : 24 Question Id : 64635015622 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

foredt i % 5% FanfiEi & AeifEr § 9 @9 % d1e QU W HAGAE g T 39h qRA 9 AETiEn 3 9
20% < M SEH FT Ol M e afmrasy ma fi AR gew 4750 @ T T F g
AftaniET f @ 2

(1) 5000 (2) 5250
(3) 6250 4 7500
Options:

64535061391, 1
4535081332, 2
E4E35081393. 3
E4E35061294. 4

Question Number : 25 Question Id : 64635015623 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If the simple interest on a certain sum for 1 year 3 months at 8}2—% per annum exceeds the

simple interest on the same sum for 8 months at 7% % per annum by Rs. 45, then the sum is

(1) Rs. 600 (2) Rs. 800
(3) Rs. 6,000 (4) HKs. 8000
Options:

E4E350812395. 1
E4E350612396. 2
645350812357, 3
6453506133958, 4

Question Number : 25 Question Id : 64635015623 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gfe foreft g=rafsn @1 aramor sars 84%% dfdad fi 22 4 1 ad 3 AE H 3041 & gaul w 8 HER H 7%
yfqad 6t sl 2 & 45% & Al g sar &, a1 g8 s 2

(1) 600 %. (2) 800=.
(3)  6000%. 4) 8000&E.
Options:

64535081395, 1
E4E350813596. 2
E4E350612397. 3
B4E53508123958. 4

Question Number : 26 Question Id : 64635015624 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If proposition ‘All pens are not pencils’ i1s taken to be True then which of the following
propositions can be False?

(1) All pens are pencils (2) Some pencils are pens
(3) No pen 1s pencil (4) Some pens are pencils
Options:

64535061399, 1
64535051400, 2
E4E35061401. 3
EAE35061402. 4

Question Number : 26 Question Id : 64635015624 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gfe a aeg ol W 9RGE Ad 2 F o 6 forn S q1 Fefafigd § 9 SR 9F e oEd 8@
Hﬁ'ﬁ’l%:

(1) ol e A 2 (2) T ufoe T 2|
@ w3 o I AR A 2 @) T U IR # |
Options:

E4E35081299. 1
64535081400, 2
64535061401, 3
64535081402, 4

Question Number : 27 Question Id : 64635015625 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two premises with four conclusions drawn from them. Which of the
following conclusions could be validly drawn from the premises?

Premises :
(1) All fans are tubes
(i1) Bulbs are not tubes

Conclusions :

(a) Fans are not bulbs
(b) All tubes are fans
(c) Fans are bulbs

(d) No tube 1s bulb

Select the correct answer from the options given below :

D (@, b)© (2) (a)and (d)
(3) () only 4 (D), () and (d)
Options:

64535061403, 1
64535081404, 2
E4E35081405. 3
EAE35061406. 4

Question Number : 27 Question Id : 64635015625 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A & e aey feu o #, ToAm =m feed gra fRe g e snan al & Fefofaa 8 S8 g
Ferd &9 w9 O wiH fou S Had 27

A A ;o () ot T oo F )
(i) sl gl A4 2|

Elea] 1 (a) UM ded A 21
by =ft == 9g 2
© U ¥od 21
(d) = i ZE e A 2
A o e Frwet § & wd s afe
(1) (@, b)), © 2 (a) ()
@) ¥ (a) @ ), ) R’ (d
Options:

64535081403, 1
64535061404, 2
64535061405, 3
EAE35061408. 4



Question Number : 28 Question Id : 64635015626 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
When subject and predicate of both the premises 1s same but they differ only in quantity, it

18 known as

(1) Subaltern

(2) Contraries

(3) Subcontraries
(4) Contradictories

Options:

64635061407, 1
64535051408, 2
64535051409 2
64835081410, 4

Question Number : 28 Question Id : 64635015626 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Sl GHI ATaR Al < 32T AT faum gae 2, foeq 3t aen B 2 91 g9l TR &9 d ST St 2

(1) T

2  foufia g

@  3u-foula wg

(4)  femarar
Options:

64535061407, 1
64535081408, 2
E4E35061403. 3
EAE35061410. 4

Question Number : 29 Question Id : 64635015627 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Identify the reasoning in the following argument :

Writing on paper 1s similar to writing on the board’.

(1) Deductive
(2) Hypothetical
(3) Analogical

(4) Inductive
Options:
45325081411, 1
40235061412 2
64635061413 2
4635061414 4

Question Number : 29 Question Id : 64635015627 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Feffiad 9% # 9 $i vgam e e 7 g N2 waEd & wgu g |

(1) P
(2) g A
(3) G AT

(4) HATTHATHS
Options:
64635061411, 1
64635061412, 2
4235061413 2
64635061414 4

Question Number : 30 Question Id : 64635015628 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The proposition ‘All leaves are green’ is equivalent to which of the following propositions?

(a) No leaves are green
(b) No leaves are non-green
(c) No leaves are in other color than green

(d) No green is leaf

Select the correct answer from the options given below :

(1) (b), (c) and (d)
(2 (a) and (b)
(3) (b) only

@  (b)and ()
Options:
4835061415, 1
64535061416, 2
64535061417, 5
64535051415, 4

Question Number : 30 Question Id : 64635015628 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



a% ared | oadl afvn gftd 27 Refafia # 3 R ok e % oedged 2

(@ g il el 2l A 2

b)  FE o =i gfarfza A8 2

© @iz Wl uxht g % sy s a2
@ g ot g, ot A 2

5y o o, faerent 6 & T e A

O O, e W@
@ @O
@ ¥« (a)

@ (b R (o)

Options:
64535061415 1

E4E3506141E. 2
EAE35061417. 3
B4E350814158. 4

Sub-Section Number: 4
Sub-Section Id: 646350744
Question Shuffling Allowed : Yes

Question Id : 64635015629 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label - Comprehension



Consider the following table that shows the total number of tickets sold of five movies P, Q,

R, S and T, across two cinema houses A and B on a particular day. In accordance with the
table, answer the questions that follow (Question 31-35) :

Sale of Movie Tickets Cinema house wise
Cinema
Movies
A B
P 200 2300
Q 350 400
R 250 1510,
S 200 350
T 400 250

Sub questions

Question Number : 31 Question Id : 64635015630 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The number of tickets sold of movie T' at Cinema house A 1s what percent of the number of
tickets of movie P sold at Cinema A?

(1) 220% (2) 200%
(3) 210% 4) 190%
Options:

E4535061419. 1
6435081420, 2
64535061421, 3
4535081422, 4

Question Number : 32 Question Id : 64635015631 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the total number of tickets sold of movies @ and R together at both the Cinemas A

and B together?

(1) 1050
(2) 1200
(3) 1250
(4) 1350
Options:

EAE35061423. 1
EAE35061424. 2



EAE35061425. 3
BAE35061426. 4

Question Number : 33 Question Id : 64635015632 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the ratio of the number of tickets sold of movie P at Cinema B to the number of

tickets sold of movie @ at Cinema B?

(0 2:8
2) 314
B 1:2
(4) d:5
Options:
64535061427, 1
4835081428 2
4535081429 2
64535061420, 4

Question Number : 34 Question Id : 64635015633 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the difference between the total number of tickets sold of all movies together at
Cinema A and the total number of tickets sold of all movies together at Cinema B?

(1) 180 (2) 170
(3) 150 (4) 160
Options:

64535081431, 1
64535061432, 2
64535081432, 3
E4E35081424. 4

Question Number : 35 Question Id : 64635015634 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the average number of tickets sold at Cinema B for movies T and S together?

(1) 360 (2) 820
3 300 4) 840
Options:

E4E35061435. 1
EAE35061436. 2
EAE35061437. 3
64535081435, 4



Question Id : 64635015629 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehension

Fffiga arferer ot fa=m $ifse, S v f@em 7 w e - o i e - & d o= feedi-i ey,
An, v o1 & F BEwd fi o gen fi W auid 21 g9 aifde % aar wog@ e gl (vee g
31-35) % 3 difor:

formram feew-femal i sl
e ferraTeR
T Eil
ot 200 300
| 350 400
aw | 250 350
o 300 350
Gl 400 250

Sub questions

Question Number : 31 Question Id : 64635015630 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frarEr-v @ fhen-& 6 owl f1 15 fewd 6 gem = yfdea FAaEr-v @ Gea-dt < &= o0
femral =i wwean 6t qoFT § foar an?

(1) 220 yidwd (2) 200 yfdvE
(3) 210 yiqwd 4) 190 yfes@
Options:

64535061419, 1
64535081420, 2
E4E35081421. 3
EAE35061422. 4

Question Number : 32 Question Id : 64635015631 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



aHl Frmmedi-u, S sfl %1 e & Fon-a9 i fhon-aar i fishl 1 78 fewel 1 e @ e 27

(1) 1050

(2) 1200

(3) 1250

(4) 1350
Options:

64535061423, 1
64535081424, 2
E4E35081425. 3
BAE35061426. 4

Question Number : 33 Question Id : 64635015632 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ot W feen-dt 6t fasht $t 78 el 6t g = wuE fRmmEe- v fFen-ay e Geft &
fesrdl 6 qaT | ferar 2:

R 2:3
@ 3:4
@ 1:2
@ 3:5
Options:

EAE35061427. 1
E4E35061428. 2
64535081425, 3
64535061430, 4

Question Number : 34 Question Id : 64635015633 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

forre-v v g fyen w ot el i feht 6 13 el it wa den it Rearer-d o ga faen &
ot fecHi it fosht it 73 fewdl i v gen F e v feen 27

(1) 180 (@ 170
(3) 150 (4) 160
Options:

E4E35061421. 1
BAE35081432. 2
64535081433, 3



EAE35061434. 4

Question Number : 35 Question Id : 64635015634 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

forwre-sft ot fon-4t eiiv um $i e Ware skt $ 0 2w $1 sfoa gen feadf 22

1) 360 (2) 320
(3) 300 (4) 340
Options:

64535061435, 1
64535061436, 2
EAE35081437. 3
EAE35061435. 4

Sub-Section Number: 5
Sub-Section I1d: 646350745
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635015635 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the following statement(s) is/are True in respect to ICT?
| i ICT is an acronym that stands for information and competitive technology.

Q : The effective use of ICT to support learning in the inclusive education exemplifies
good teaching for all learners.

(1) Ponly (2) Q only
(3) Both P and Q (4) Neither P nor @
Options:

E4E35061439. 1
64535081440, 2
64535061441, 3
4535081442, 4

Question Number : 36 Question Id : 64635015635 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fFrefafiaa 4 @ #a /w8 w9 g @ & % o d w12 2/77

P®) . A e uiEd 2, R aerd FeReE Ut st e (e vE giaer et
T 21
@ gurasi e § 2t sadR % fau 2 O & 1 avrdt soe ol SendiE F oo v a=s
ST %71 32E 2 |
1) % (P) (2 e Q)
@ (@) =@ aF 4) Fd @) HATd Q)
Options:
C4E25081459 1
4625081440, 2
cdE25E061441. =2
C4EZE0E1442. 4

Question Number : 37 Question Id : 64635015636 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What 18 spyware 1in respect of computer software?

(1) Software that aims to gather information about a person without his'her knowledge,
and that may send such information to another entity

(2) Legitimate software that allows companies to monitor and supervise the computers of
their employees from a central location

(3) Software used to disrupt computer operation or gain access to private computer
systems

(4) A computer program hidden within another seemingly harmless program that
produces copies of itself and inserts them into another programs or files

Options:

E4E3506144= 1
64535061444 2
64535051445 =
64535051446, 4

Question Number : 37 Question Id : 64635015636 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



YR HTF2AAE & e U TIrEagy 491 27
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e &l 2 |
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39 foa S 2 |
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Options:
64635051443,
64635061444,
64635061445
64635051446

o IR

Question Number : 38 Question Id : 64635015637 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following best describes a wiki?

(1) A system that allows users to add information onto a website but does not change
any pre-existing information

(2) A system that allows collaborative modification of 1its content and structure directly
from the web browser

(3) A system that serves as a publically accessible personal journal for an individual
(4) A system that monitors the modification of content within a blog

Options:

E4E5235061447. 1

C4EZE0E1448. 2

E4E35061448. 3
EAE35061450. 4

Question Number : 38 Question Id : 64635015637 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fFefafaa 5 9 =9 fadh (Wiki) =1 399 e 2ar 2:

(1) & yonell, St ITERTRAlA] 1 Uh JaEEe 9 gl Sied adt 2, <ifee g | e e ot gemn
= fafda w3 81 &t |

(2) Ok qolel, S Gead ©9 3 e Ao A A% [Avaa o TRV IR araie B erat ot 2
(3) U 9UIel, S A & 8 A v safdana e & w1 1@ e wdt 2
4) U wunelt, St U sArT F oia Areied & FIRE S 2

Options:



EAE35061447. 1
64535081445, 2
64535081445, 3
64535061450, 4

Question Number : 39 Question Id : 64635015638 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Anjali's teacher uses VLE, a software tool designed to deliver courses online. The acronym
VLE stands for

(1) Video Learning Environment
(2) Visual Learning Environment
(3) Virtual Learning Environment

(4) Visual Local Environment
Options:
645350614511
64535061452 2
64535061452 =
64535051454, 4

Question Number : 39 Question Id : 64635015638 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wetel! 1 s SAeng TreE=dl WH i F fore dun fR e v atveds 3uer U § 3w
F1 2 | 21 ufiaef & vet § @ 9 9 2
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Options:

64535061451, 1
64835081452 2
4535081452 =2
64535061454, 4

Question Number : 40 Question Id : 64635015639 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What 1s the decimal equivalent of binary number 11001107

1 102
@ 204
3 153
@ 5l
Options:

64535081455, 1
E4E35061456. 2
E4E35061457. 3
E45350814558. 4

Question Number : 40 Question Id : 64635015639 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fg-=rha 1100110 =1 T9geH G¥HeTd FHT 27

1 102
@ 204
@ 153
@ 51
Options:

64535081455, 1
E4E35061456. 2
E4E35061457. 3
E45350814558. 4

Question Number : 41 Question Id : 64635015640 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which are the examples of potential kinetic energy? Select your answer from the options
given below :

1) Water that 1s beluind a dam

(11) Radio signals

(i11)  An airplane idling on the runway
av) A satellite before it 1s launched
() A colled spring

(vi)  Heat harnessed from the oceans
Options :

(1) @, ), av) and (V)
(2) @, @), (1) and (v1)
(3) (@), Gum), Gv) and (v)

(4) (@), @v), (v) and (v)

Options:

64535061459,
64535061460,
4835061461,
4635061462,

o P

Question Number : 41 Question Id : 64635015640 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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) Fefaa e
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fareu

Q) @, i), (v) # @)
@ ), @), (i) #N (Vi)
(3 G, (i), (v) I )
@ QD) (v), v) 3 (Vi)

Options:

64535061459, 1
4535081460 2
64535061461, 5
4535061462, 4

Question Number : 42 Question Id : 64635015641 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Statement I : The Millennium Development Goals were adopted in the United Nations in
the year 2010

Statement II : Developing a global partnership for development was one of the Millennium
Development Goals.

Which of the above statements 1s/are correct?

(1) Only I

(2) Only IT

(3) Both I and II
(4) Neither I nor IT

Options:
64635061463, 1
4835081464, 2



EAE350614E65. 3
EAE35061466. 4

Question Number : 42 Question Id : 64635015641 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
4535061463 1

E4E35081464. 2
E4E350614E65. 3
EAE35061466. 4

Question Number : 43 Question Id : 64635015642 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following conferences/summit 1s also known as UN Conference on

Sustainable Development (UNCSD)?

(1) The Stockholm Conference, 1972
2) The Rio de Janerio Conference, 1992
(3) The Johannesburg Summit, 2002

(4) The Rio + 20 Conference, 2012
Options:
E4E2E081467. 1
40235061468, 2
646235061469 3
4635061470 4

Question Number : 43 Question Id : 64635015642 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  &iwEm T, 1972

@  frear & sefien adie, 1992
(8)  SirEwgsri fraw o, 2002
(4  f=l +20 g9er, 2012

Options:

64535061467, 1
64535061468, 2
4835081469 =2
4535081470, 4

Question Number : 44 Question Id : 64635015643 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In the formation of surface Ozone, which of the following do play an important role?

(a) Oxides of mtrogen
(b) Oxides of sulphur
(c) Sunlight

() Carbon monoxide

Choose the correct answer from the code given below :

1) (&, b)), ©
@ (b)) @D
@ @ 0 @
@ (@), b) @

Options:

64635061471, 1
4835081472 2
64535061472, 5
64535061474, 4

Question Number : 44 Question Id : 64635015643 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535061471, 1
E4E35081472. 2
4535081472 2
64535061474, 4

Question Number : 45 Question Id : 64635015644 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following belongs to the category of geophysical hazards?

(1) Infestation (2) Avalanches
(3) Invasive species (4) Diseases
Options:

64535061475, 1
EAE3508147E. 2
EAE35061477. 3
EAE35061478. 4

Question Number : 45 Question Id : 64635015644 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E25081475. 1
E4BZ50E147E. 2



EAE35061477. 3
B4E35081478. 4

Question Number : 46 Question Id : 64635015645 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

GIAN (Global Imitiative of Academic Networks) has been launched by Government of India
1n order to

(1) Encourage Indian Scholars to learn abroad
(2) Discourage Indian Scholars from researching in India
(3) Encourage global scholars engage with their counter parts in India

(4) Encourage global scholars to engage with Indian Scholars abroad

Options:

64635061479, 1
64535051480, 2
645350614381, =2
4835081432 4

Question Number : 46 Question Id : 64635015645 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

45350681479, 1
645350614580, 2
64535061481, =
645350514582, 4

Question Number : 47 Question Id : 64635015646 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following forms a necessary component of Conventional Education System
in India?

(1) Learming from books (2) Learning from the teacher
(3) Learning from thinlking (4) Learning through instructional material
Options:

E4E35061453. 1



EAE35061454. 2
64535061485, 3
B4E35081456. 4

Question Number : 47 Question Id : 64635015646 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535081452, 1
E4E35081454. 2
E4E35061485. 3
EAE35061456. 4

Question Number : 48 Question Id : 64635015647 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following five year plans of India has e1ven special emphasis on “Education
and Manpower”?

(1) Third Five Year Plan (2) Fourth Five Year Plan
(3) Second Five Year Plan (4) Fifth Five Year Plan
Options:

64535061457, 1
64535061488, 2
E4E35061459. 3
EAE35061430. 4

Question Number : 48 Question Id : 64635015647 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fefefiga 9 @ ara & foem gemdfa gomn & e d aee i’ o fa @ foan mn

(1)  derd geadia e (2) el gl A
(3)  zudl g=EdE FeE (4) Rl vEEdi AeAT
Options:

B4E35081457. 1
645350814588, 2
64535061459, 3
64535051430, 4



Question Number : 49 Question Id : 64635015648 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Brain drain problem which was dominant in the muddle of 20t Century in India 1s indicative
of which one of the following aspects?

1)  Lack of adequate facilities for advanced study and research in India

1) The capacity of the developed nations to buy the talent at a price beyond the means of
the developing nations

(111) Increase of population and under utilization of human research
Choose the correct option from below

(1) Only (1) and (111)
(2) Only (i) and (iii)
(3) Only (ii1)

(4) Only (1) and (1)

Options:

64635061491, 1
64535061492, 2
64535051493 =
64535051494 4

Question Number : 49 Question Id : 64635015648 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350614391, 1
64535081432, 2
E4E350814353. 3
E4E350614354. 4



Question Number : 50 Question Id : 64635015649 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The premier organisation established 1n India to deal with capacity bullding and research in
planning and management of education in India and South Asia is

(1) ATU
(3) NUEPA
Options:

64535061435, 1
E4E35081435E. 2
EAE35061437. 3
E4E350614355. 4

(2) SAARC Umversity
(4) Nalanda Unmversity

Question Number : 50 Question Id : 64635015649 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635061495, 1
4835081496, 2
4535081497, 2
64535061498, 4

(2) Hrh iﬁaﬁfﬁ (SAARC University)
(@) Awe fafvaenea

PART 11 Social Medicine and Comunurnity Health

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

646350363
2

Online
Mandatory
92
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200

Yes

No

1
646350746
Yes

Question Number : 51 Question Id : 64635015650 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0



The comrelation coefficient between level of fluoride in water and fluoresis was found

to be 0-9. It shows
1. no comelation
2. moderate positive correlation
3. strong positive correlation
4,  perfect positive correlation

Options:

E4E3506814599. 1
64535061500, 2
64535061501, 5
64535061502, 4

Question Number : 51 Question Id : 64635015650 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635061499, 1
64535061500, 2
64535061501, 2
4835081502, 4

Question Number : 52 Question Id : 64635015651 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which is the most common aetiological factor associated with Road Traffic Accidents
(RTA)?

1. Human
2. Genstic
3. Physical environment

4.  Mechanical faultin vehicle
Options:
645350681503 1
E4525081504. 2
E4535061505. =
64535081506 4

Question Number : 52 Question Id : 64635015651 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
64535061503 1

E4E35081504. 2
E4E35061505. 3
EAE35061506. 4

Question Number : 53 Question Id : 64635015652 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The main aim of providing Kangaroo Mother Care to newbom is prevention of
1. hypothennia
2. septicemia
3. malnutrition
4. low birth weight

Options:

4635061507, 1
64535061508, 2
64535061509 =
64535051510 4

Question Number : 53 Question Id : 64635015652 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
4525081507, 1

EAE35061508. 2
E4E35081509. 3
B4E35081510. 4

Question Number : 54 Question Id : 64635015653 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Following are the principles of health education, except
1.  credibilitv
2.  motivation
3. leaming by doing
4. aodiovisual aids

Options:
45350681511, 1

EAE35081512. 2
E4E35061513. 3
B4E35081514. 4

Question Number : 54 Question Id : 64635015653 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535061511, 1
64535061512 2
64835081512 2
64535061514, 4

Question Number : 55 Question Id : 64635015654 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Discrete observations of attributes or events collected from operating health institutions
are kmown as

1. data

4. health information

3.  reporting
4.  notification
Options:

64535061515, 1
64535061516, 2
64535081517, 3
EAE35061515. 4

Question Number : 55 Question Id : 64635015654 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35061515. 1
64535081516, 2
64535061517, 3
645350615158, 4

Question Number : 56 Question Id : 64635015655 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
All of the following are major health problems of children in India, except
1. low birth weight

2. neonatal tetanus

3. accidents

4. behavioural problems
Options:
645350515159, 1
64835081520 2
64535061521 5
E4EZ5081522. 4

Question Number : 56 Question Id : 64635015655 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635061519, 1
64535061520 2
64535061521, =
64535061522 4

Question Number : 57 Question Id : 64635015656 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following is most common cause of blindness in India?
1.  Accidents
2. Glaucoma
3.  Cataract

4. Fefractive error

Options:

64635061523, 1
64535061524, 2
64535061525 =
64535061526, 4

Question Number : 57 Question Id : 64635015656 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
64535061523 1

E4E35081524. 2
EAE35061525. 3
BAE35061526. 4

Question Number : 58 Question Id : 64635015657 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

F.outine provision of iron-folic acid tablets to antenatal women is an example of
1.  health promotion
2. specific protection
3. secondarv prevention

4. temiary prevention

Options:

64535061527, 1
64535061528, 2
64835081529 2
4535081520 4

Question Number : 58 Question Id : 64635015657 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BAE35081527. 1
64535061528, 2
64535061529, 3
E4E35081530. 4

Question Number : 59 Question Id : 64635015658 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Demography is a sciemtific study dealing with all of the following ‘demographic
processes , except

1.  morbidity
2. mortality
3. marmage
4. migration

Options:

64635061531, 1
4835081532 2
64535061522 5
64535061524, 4

Question Number : 59 Question Id : 64635015658 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535061531, 1
64535061532 2
648350815322 2
4535081524 4

Question Number : 60 Question Id : 64635015659 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



International health agency supporting the applied nutntion program at schools in India
is

1. UNICEF

2. UNFPA

3. USAID

4. UNDP
Options:

E4E35061535. 1
E4E35081536. 2
64535081537, 3
64535061528, 4

Question Number : 60 Question Id : 64635015659 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E4E35061535. 1
EAE35061536. 2
EAE35081537. 3
64535081538, 4

Question Number : 61 Question Id : 64635015660 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following preventive measures is most effective for prevention of
surgical site infections?

1. Fumigation

2. Change of ventilator circuit every 48 or 72 hours
3. Surgical technique

4.  Preoperative shaving
Options:
6463506815339 1
64535061540 2
64535081541, 5
EAE25051542 4

Question Number : 61 Question Id : 64635015660 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635061539, 1
64535051540, 2
64535061541, =2
4835081542 4

Question Number : 62 Question Id : 64635015661 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following addictions is associated with epidermoid carcinoma of hard

palate?
1. Cigarette smoking
2. Tobaceo chewing
3.  Bidi smoking
4. Chutta cigar

Options:

64635061543, 1
64535051544 2
64535061545 =2
4835081546, 4

Question Number : 62 Question Id : 64635015661 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535061543, 1
64535051544, 2
E4E35061545. 3
EAE3506154E. 4

Question Number : 63 Question Id : 64635015662 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Assessment of ecological factors for malnutrition include the study of
1.  individual dietary recall method
2. dietarvintake in selected population
3. parasitic and viral infections in community

4.  infant mortality rate and rate of low birth weight babies
Options:
E4525051547. 1
E4E35061545. 2
645350515459 =
646350681550 4

Question Number : 63 Question Id : 64635015662 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
4535061547 1

E4E350615458. 2
E4E35061543. 3
E4E35081550. 4

Question Number : 64 Question Id : 64635015663 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Out of the following variables for Kuppuswamy classification, the one which is NOT
used is

1 occupation
2. education
3.  per capita income

4.  familv income per month
Options:
64635081551 1
64535061552, 2
64535061552 5
E4525051554 4

Question Number : 64 Question Id : 64635015663 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4635061551, 1
64535061552, 2
64535061553 =
64535051554 4

Question Number : 65 Question Id : 64635015664 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following is a measure of contraceptive failure?
1. Quetelet’'s index
2. Chandler index
3. Pearl index
4. Sullivan index

Options:
6453506815551

E4E35081556. 2
E4E35061557. 3
64535061558, 4

Question Number : 65 Question Id : 64635015664 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4535061555. 1
64535061556, 2
64535061557, 3
64535061558, 4

Question Number : 66 Question Id : 64635015665 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following indicators is ‘impact’ type linked to ‘noncommunicable disease
and mental health’ targets of Sustainable Development Goals (SDGs)?

1. Hypertension treatment coverage
2. Cervical cancer screening
3.  NCD (Noncommunicable Diseases) mortality rate

4. Substance abuse

Options:

64635061559, 1
64535061560 2
64535061561, =
64535061562 4

Question Number : 66 Question Id : 64635015665 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
64535061559 1

EAE35081560. 2
EAE35061561. 3
EAE35061562. 4

Question Number : 67 Question Id : 64635015666 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Duration of hospital stay was recorded in 6 patients in surgery ward of tertiary care
hospital.

Data of hospital stay :
3 months, 3 days, 12 davs, 10 days, 6 davs, 17 days

In the above example, which one is the best for measurement of central tendencyv?

1. IMean

2. Median

3. Mode

4.  Range
Options:

E4E35061563. 1
EAE35061564. 2
E4535061565. 3
EAE35081566. 4

Question Number : 67 Question Id : 64635015666 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

64535061563, 1
64535081564, 2
E4E350815E65. 3
EAE35061566. 4

Question Number : 68 Question Id : 64635015667 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F.esearcher 15 interested to kmow the sexual behaviour of HIV positive people. What 1s
the best techniguemethod to address the above objective?

1.  Case control study

2.  Cohort study

3. Randomised control trial

4. Qualitative research
Options:
E4E35081567. 1
64535061568 2
64635061569 2
64535061570, 4

Question Number : 68 Question Id : 64635015667 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
B46350681567. 1
E4BZ50E1568. 2

EAE35061569. 3
EAE35081570. 4

Question Number : 69 Question Id : 64635015668 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

What type of statistical rest is applied to see the statistical significant difference in
mean birth weight of 4 hospital and 5 hospital? (Sample size more than 30 in both
hospitals.)

1. Chi-square
2. Standard error of difference between two proportions
3.  Paired rtest

4, Standard ervor of difference between two means

Options:

64635061571, 1
64535061572 2
64535061573 2
4535081574 4

Question Number : 69 Question Id : 64635015668 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
4235061571, 1

EAE350E1572. 2
EAE35081573. 3
B4E35081574. 4

Question Number : 70 Question Id : 64635015669 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
(General fertility rate is a better measure of fertility than crude birth rate, because

1.  all women in the denominator are exposed to the risk of child birth
2. denominator is restricted to the number of women in child-bearing age

3.  denominator is covering only mid-vear married female population of
reproductive age group

4. denominartor is estimated mid-year population of a given area in a particular
year

Options:

64535061575, 1
E4E35081576. 2
E4E35081577. 2
64535061578, 4

Question Number : 70 Question Id : 64635015669 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
4535061575 1

EAE3508157E. 2
EAE35081577. 3
EAE35081578. 4

Question Number : 71 Question Id : 64635015670 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

All of the following services are provided by Adolescent Friendly Health Clinics
(AFHC), except

1.  Medical Termination of Pregnancy (MTP)
2. antenatal care
3.  provision of contraceptives

4,  RTISTI management
Options:
EAE35061575. 1
E4E35081580. 2
64535081581, 3
64535061582, 4

Question Number : 71 Question Id : 64635015670 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535081579, 1
E4E35081580. 2
E4E35061581. 2
BAE35081582. 4

Question Number : 72 Question Id : 64635015671 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Bhore Committee used which of the following term for health services?

1. Comprehensive health care
2. Basic health care
3.  Pnmary health care
4.  Health forall
Options:
64535061583, 1
E4E250815854. 2

EAE35061585. 3
EAE35061586. 4

Question Number : 72 Question Id : 64635015671 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535061583, 1
64535061584, 2
64835081585 2
64535061556, 4

Question Number : 73 Question Id : 64635015672 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Case control data on long-term smoking habit and lung cancer are given below

Lung cancer (Cases) No lung cancer (contrals)

Non-smokers 4 50
Light smokers 7 41
Moderate smokers 30 45
Heavy smokers 100 150
Excessive smokers 20 30
Chain smokers g0 30

In the above example the degree of freedom will be
. 1

2.3

3. 3

4, &
Options:

645350815587, 1
EAEZ508158E. 2
E4E35081589. 3



EAE35061530. 4

Question Number : 73 Question Id : 64635015672 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350815587, 1
EAE35061588. 2
E4E35081589. 3
B4E35081530. 4

Question Number : 74 Question Id : 64635015673 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Core health indicator related to health financing is

l. per capltal G'."IP
2. total current expenditure on health as percentage of GDP
3. population coverage by health insurance schemes

4. quality of health care services
Options:
E4E825081591. 1
EAE25061592. 2
E45350615593 =
645350515594 4

Question Number : 74 Question Id : 64635015673 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635061591, 1
64535061592, 2
64535061593 =2
4835081594 4

Question Number : 75 Question Id : 64635015674 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What is the mode of transmission of Q-fever?

1. Mosquite

2. Food

3.  HardTick

4. Louse
Options:

64535061555, 1
64535061536, 2
64535081537, 3
EAEZ50815395. 4

Question Number : 75 Question Id : 64635015674 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535081555, 1
645350615396, 2
64535081537, 3
64535081535, 4

Question Number : 76 Question Id : 64635015675 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Multifactorial causation of diseases was first mooted by

1. Lonis Pasteur

2 Pattenkofer

3.  FRobert Koch

4.  Edward Jenner
Options:
646350815959 1
64535061600, 2
E4E25081601. =
EAE25081602. 4

Question Number : 76 Question Id : 64635015675 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535081599, 1
E4E35081600. 2
E4E35061601. 3
EAE3508160%2. 4

Question Number : 77 Question Id : 64635015676 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to the Birth & Death Fepgistration Act, the limit for registering event of death
In country is

1. 72hours

2. Tdays

3. 21 daws

4. 30 davs
Options:

64535061603, 1
64535061604, 2
64535081605, 3
EAE350E1E60E6. 4

Question Number : 77 Question Id : 64635015676 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535061603, 1
64535061604, 2
64535061605, 3
EAE350E1E60E6. 4

Question Number : 78 Question Id : 64635015677 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

All of the following are considered as morbidity indicator, except
1. mcidence rates
2 prevalence rates
3.  notification rates
4. disability rates

Options:

4835061607, 1
E4E35081808. 2
64535061609, o
64535061610, 4

Question Number : 78 Question Id : 64635015677 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

4835061607, 1
E4E35081808. 2
64535061609, o
64535061610, 4

Question Number : 79 Question Id : 64635015678 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Basic emergency obstetric care includes all of the following, except
1. injectable anticonvulsant
2. blood transfusion facilities
3. assisted vaginal delivery
4,  facility for manual removal of placenta and retained products
Options:
45350681611, 1
64535061612, 2

E4E35061613. 3
BAE35061614. 4

Question Number : 79 Question Id : 64635015678 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635061611, 1
64535061612, 2
64535061613 2
48350816814, 4

Question Number : 80 Question Id : 64635015679 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

All of the following are components of counselling the client for family planning,
except

1. askin detail ‘the need’ of the client and relevant history
2. rell the options available from wide varieties of contraceptives
3.  decidethe contraceptive to be used on behalf of the client

4.  explain in detail about ‘how touse’ chosen contraceptive
Options:
64535051615, 1
646350681616 2
64535061617, 5
64535061615, 4

Question Number : 80 Question Id : 64635015679 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535061615, 1
64535061616, 2
4835081817, 2
4535061615, 4

Question Number : 81 Question Id : 64635015680 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Primary health care is based on the following principles, except
1. appropriate technology
2. inversectorial coordination
3. community participation
4. provision of essential drugs

Options:

64635061619, 1
64535061620, 2
64535061621, 2
E4E3S0816822. 4

Question Number : 81 Question Id : 64635015680 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

646350616139, 1
E4E3S0816820. 2
E4E35081821. 2
4535061622, 4

Question Number : 82 Question Id : 64635015681 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



At the village, Panchavat Faj Institution consists of all of the following, except
1. Gram Panchavat
2. Gram Sabha
3. Nwvava Panchavat
4.  Panchayat Samiti

Options:

64535061623, 1
64535061624, 2
4835081825 2
4535061626, 4

Question Number : 82 Question Id : 64635015681 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35081623. 1
EAE35061624. 2
EAE35061625. 3
BAE35081626. 4

Question Number : 83 Question Id : 64635015682 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In the context of evaluation of Fa.'rni]j.' planning in health serices suggested b:.' WHO,
which of the following components suggests ‘evaluation of impact™?

1.  Number of abortions
2. Number of new acceptors
3.  Contraceptive usage
4.  Contraceptive distribution

Options:

4635061627, 1
64535001628, 2
64535061629, 2
4835081620 4

Question Number : 83 Question Id : 64635015682 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635061627, 1
E4E3S081682E. 2
4535061629, 5
64535061620 4

Question Number : 84 Question Id : 64635015683 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Faﬂm\'ing are health care delivery indicators, except
1. doctor-population ratio
2. doctor-nurse ratio
3.  population-bed ratio
4, number of persons per room

Options:

64635061631, 1
64535061632, 2
64535061633 2
48350816324, 4

Question Number : 84 Question Id : 64635015683 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fFrafafad d @ s=-w we dav Ther deae T8l 87
1. fofsems.-w= e s
2. fufsmes-wfafe @) erqom
3. TS R ST
4. vid A0 | wfeqdl @ den
Options:
64635061631, 1
64635081632 2

E4E53508163E. 3
EAE350E1634. 4

Question Number : 85 Question Id : 64635015684 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Kartar Singh Committee is also known as
1.  Health Survey and Planning Committee

2. Committee on Integration of Health Services
3. Committee on Multipurpose Workers under Health and Family Planning
4.  Group on Medical Education and Support Manpower

Options:

4535061635, 1

EABZE0E1E3E. 2

EABZ50E1637. 3

E4AG35061638. 4

Question Number : 85 Question Id : 64635015684 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
4235061635, 1

EAE350E163E. 2
EAE350E163Y. 3
E4E35081638. 4

Question Number : 86 Question Id : 64635015685 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
MDG goal 4 is related to

1.  matemal mortality

2. child mortality

3. HIV/AIDS related mortality
4. malaria mortality

Options:

4635061639, 1
64535061640, 2
64535061641, =
E4E35081642. 4

Question Number : 86 Question Id : 64635015685 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4835061639, 1
4535081840, 2
64535061641, o
4535061642, 4

Question Number : 87 Question Id : 64635015686 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following malariemetric indices is an index of operational efficieney?
1.  Slide Pasitivity Rate (SPR)
2 Annual Parasite Incidenece (APD)
3. Annual Blood Examination Fate (ABER)

4. Annual Faleiparom Incidence Rate

Options:

64535061643, 1
64535061644, 2
64535061645 =
64535061646, 4

Question Number : 87 Question Id : 64635015686 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
4535061643 1
4535061644 2

E4E35061645. 3
EAE3506164E. 4

Question Number : 88 Question Id : 64635015687 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Following are the examples of utilisation rates, except
1. proportion of infants who are fully immunised

2. proportion of pregnant women who received antenatal care

-~

3. percentage of population using vanous family planning methods
4. dependency ratio

Options:

64535061647, 1

E4B2E0E164dE. 2

EAE25081649 3

E4G35061650. 4

Question Number : 88 Question Id : 64635015687 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

4835061647, 1
E4E35081848. 2
64535061649, o
64535061650, 4

Question Number : 89 Question Id : 64635015688 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

It was proposed during formulation of health target in sustainable development goal
that maternal mortalitv ratio should be reduced by 2030 AD as

1.  half the present level per 100000 live births
2. 60 per 100000 live births

3. 70 per 100000 live births

4. 100 per 100000 live births

Options:

64635061651, 1
4835081852, 2
4535081852 2
64535061654, 4

Question Number : 89 Question Id : 64635015688 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635061651, 1
64535001652, 2
64535061653 2
48350816854, 4

Question Number : 90 Question Id : 64635015689 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is called a superman drag?

1. Heroin

2. Cocaine

3. LsD
4. Cannabis
Options:

E4E35061655. 1
B4E535081656. 2
64535061657, 3
64535081658, 4

Question Number : 90 Question Id : 64635015689 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535061655, 1
64535081656, 2
EAE3506165Y. 3
E4E35061658. 4

Question Number : 91 Question Id : 64635015690 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following is the advantage of case control design?
1, Multiple outcomes can be studied
2. Rare exposure can be studied
3. Rare disease can be studied

4.  Incidencerate of the disease can be calculated
Options:
64635061659, 1
435061660, 2
4535061661, 5
64535061662, 4

Question Number : 91 Question Id : 64635015690 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535061659, 1
4535061660, 2
64535061661, o
64535001662, 4

Question Number : 92 Question Id : 64635015691 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The extrinsic incubation period of dengue virus is

1. 1-2 days
2. 46 davs
3. T-10days

4. 12-14 days
Options:
64535061663, 1
64635061664, 2
E4E3506166E5. 2
E4E5350516E6E. 4

Question Number : 92 Question Id : 64635015691 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535081662, 1
EAEZE0E16E4. 2
EAE350616E65. 3
EAE3506166E6. 4

Question Number : 93 Question Id : 64635015692 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A cohort study was conducted in 10000 smokers and they were followed up over
10 vears. It was found that 100 people developed lung carcinoma. 10000 people from

general population were also studied and only 10 of them developed lung cancer.
Felative risk is

1. 0-001

2. 01

i 1

4 10
Options:

EAE350E16EY. 1
E4E35081668. 2
64535061669, 3
E4E35081670. 4

Question Number : 93 Question Id : 64635015692 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TF TEU ST 10000 YEIH F34 o sfenat ® fm mm aw 10 o | ot am e

1 BTa-3 foran A | o urEn e fe 100 wiEaEt B e S 1 ST 8 T S HEet
A &+t 10000 safedl 1 g feem o I | A 10 Sl B EES H FE g

W e &
1. 0001
2GR
ge: B
4 10
Options:

EAE3S0E1E6EY. 1
EAE350616E6E. 2
E4E35061665. 3
BAE35081670. 4

Question Number : 94 Question Id : 64635015693 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

5}'5!:1113‘!1: error in the determination and association between risk factor and disease is
known as

1. chance

2. bias

3.  confounder
4. probability

Options:

45350681671, 1
E4E35061672. 2
64535061673, o
64535061674, 4

Question Number : 94 Question Id : 64635015693 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535061671, 1
EABE3S0E1E7Z. 2
EAE350E1673. 3
EAE35061674. 4

Question Number : 95 Question Id : 64635015694 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Incidence of measles in community can be caleulated by
1. cross-sectional study
2. case control study
3. cohort study
4.  ecological study

Options:

E4E350681675. 1
64535061676, 2
64535061677, o
64535061675, 4

Question Number : 95 Question Id : 64635015694 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
E4E35061675. 1

EABE3S0E1E7VE. 2
EAB3IS0E1E7Y. 3
EAE3508167E. 4

Question Number : 96 Question Id : 64635015695 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Whe among the following is considered the founder of socialogy?
1.  Byron
2. MecLeod
3. Auguste Comte

4.  Brint
Options:
64535061679, 1
E4E35081620. 2
4535081881, 2
64535061682, 4

Question Number : 96 Question Id : 64635015695 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B4E35081675. 1
64535061680, 2
4535081681, 3
EAE3S0E16E8Z. 4

Question Number : 97 Question Id : 64635015696 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following is true regarding elimination of disease?
1. Interruption of transmission of disease

2. PReducing the disease to such level so it will not become major public health
problem

3. Extermination of disease agent
4. There is no disease anywhere in the world
Options:
E4525081683. 1
64635081684, 2
E4535081635. 2
E45250E168E. 4

Question Number : 97 Question Id : 64635015696 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4835061683, 1
E4E350818284. 2
64535061685, o
4535061686, 4

Question Number : 98 Question Id : 64635015697 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the motivation model of health education, which one of the following is NOT one of
the stages?

1. Action

2. Awareness

3.  Monitoring

4. Motivation
Options:
64535081657 1
64635081688 2
645350616389 5
64535061630, 4

Question Number : 98 Question Id : 64635015697 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



wrey fnen & sfigrm wisa A fafafes § 4 $59-1 v u T8l 87

1. FFm

2. WEEH

3. P

4. HiimRon
Options:

45350616587, 1
4535081688, 2
EAEZ50E1659. 3
E4E35061630. 4

Question Number : 99 Question Id : 64635015698 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The Werld Health Day iz celebrated on

1.  T® January
2 7t April
3. 1#May

4. 1*December
Options:
E4525081691. 1
EAE350616592. 2
645350816593 2
6483506816594 4

Question Number : 99 Question Id : 64635015698 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E350616591. 1
BAE350816382. 2
64535061633, 3
64535061634, 4

Question Number : 100 Question Id : 64635015699 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The full form of “NITI" in NITI Aavog is

1.  New Innovations for Transforming India

2. National Institute for Translational Innovations
3.  New Indian Translaticnal Institute

4.  National Institution for Transforming India

Options:

64635061695, 1
E4E3S0816896. 2
64535061697, 5
4535061698, 4

Question Number : 100 Question Id : 64635015699 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
64635081635, 1
64635061636, 2

BAE35081657. 3
645350616358, 4

Question Number : 101 Question 1d : 64635015700 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following statements is true about norms?

1.  Standards for determining what is good and just in a society

]

Inelude knowledge, belief, an and morals of a society
3. Expectation of a behaviour predefined and agreed by society as good
4. Usual behaviour of people as per tradition

Options:

E4E25081659 1

E4E35081700. 2

64535081701, 3
64535061702, 4

Question Number : 101 Question Id : 64635015700 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E4E350616499. 1

E4E35081700. 2
E4E35061701. 3
EAE35081702. 4

Question Number : 102 Question Id : 64635015701 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the fallowing factors is associated with high prevalence rate of disease?
1.  High case fatality
2. High ease rate
3. Immigration of healthy people

4.  Longer duration of disease

Options:
42350681703, 1

EAE35061704. 2
E4E35081705. 3
B4E35081706. 4

Question Number : 102 Question 1d : 64635015701 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64635061703, 1
64535061704, 2
64535061705, =
E4E35081706. 4

Question Number : 103 Question 1d : 64635015702 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following are true regarding ice lined refrigerators (ILR)?
(a) Smaller ILE are given in PHCs and longer one to district vaccine stores
(b) Thev have temperature zones for different vaccines
(c) All vaccines are kept in plastic bags to store vaccines
(d) Katathermometer is used to record temperature inside the ILR
Choose the correct answer from the codes given below :
1. (a)and (b) are right
2. (b) and (c) are right
3. (c) and (d) are right
4. (a) and (d) are nght

Options:

64535061707, 1
64535061708, 2
64535061709, =
64535061710, 4

Question Number : 103 Question 1d : 64635015702 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64635061707, 1
4835081708, 2
4535061709, 5
64535061710, 4

Question Number : 104 Question Id : 64635015703 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following are models of health promotion?
(a) Ecological
(b) Economical
(c) Health Belief
(d) Cognitive
Choose the comect answer from the codes given below :
1. (b)) and (c) are comrect
2. (a) and (d) are comrect
3.  (a) and (¢) are correct
4. (c) and (d) are correct
Options:
64635081711, 1
64535061712 2

E4E35081713. 3
EAE35061714. 4

Question Number : 104 Question Id : 64635015703 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FoffEn e sn- o deR S oz &7
(@) wivRufas
(b) ot
(c) T fare
(d) HAETEHS
e fEu U 21 # | HEl IO &1 9g S :
1L () FRTE
2. @IMOTT
3. (@R WE
4. (@ IR@WTE

Options:

45350681711, 1
64535061712 2
64535061712
64535051714, 4

Question Number : 105 Question Id : 64635015704 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following statements are true regarding ‘eradication of disease’?
(a) Itisa regional phenomenon.
(k) Cases are brought to a level that ransmission stops.
() Irisa global phenomenon.
(d) Preventive measures can be stopped after achieving this state.
Choose the correct answer from the codes given below :
1. (a) and (b) are comrect
2. (b)and (d)are comect
3. (c) and (d) are comrect
4.  (b) and (c) are comect

Options:

4635061715, 1
64535061716, 2
64535061717, =
64535061718, 4

Question Number : 105 Question 1d : 64635015704 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350617151
64535081716, 2
EAEZ5081717. 3
EAE350617158. 4

Question Number : 106 Question Id : 64635015705 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following are true for the treatment of case of class IT dog bites?
(a) Give immunoglobuling for passive immunity
(b) Give antirabies vaccine
(c) Immediately stitch wound after antibiotic coverage
(d) Immediately wash wound with soap and water
Choose the comrect answer from the codes given below -
1. (a) and (b) are comrect
2. (b) and (d) are comect
3. (c) and (d) are correct
4. (a) and (d) are correct

Options:

64635061719, 1
64535061720 2
64535061721, 2
4835081722, 4

Question Number : 106 Question Id : 64635015705 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
645350617191
64535061720, 2
64E35061721. 2
4535081722, 4

Question Number : 107 Question Id : 64635015706 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following are true regarding Rashtriva Bima Yojana?
{(a) Applicable for BPL only
(b) Annual coverage is T 30000 /person/vear
(e} 25% premium is bame by central government
(d) Irisimplemented all over India
Choose the correct answer from the codes given below :
1. (2) and (b) are correct
2. (a) and (d) are comect
3. (b) and (c) are correct
4. (b) and (d) are comrect

Options:

4635061723, 1
64535061724, 2
64535061725, 2
64535061726, 4

Question Number : 107 Question 1d : 64635015706 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64635061723, 1
4535061724, 2
64535061725, 2
64535061726, 4

Question Number : 108 Question 1d : 64635015707 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statements are true for choosing coliform organism as an
indicator for faecal pellution?

{a) Thev are present in small number in the human intestine.
(b} Thev are easilv detectable by culture methods.
(¢} They tend to die out more rapidly.

{d) They have greater resistance tothe forces of natural purification than the water-
bome pathogens.

Choose the comrect answer from the codes given below :
1. (a) and (d) are comect
2. (b) and (c) are comect
3. (a) and (c) are cormect
4. (b)and (d) are correct

Options:

64635061727, 1
64535061728, 2
64535061729 2
4835081720 4

Question Number : 108 Question Id : 64635015707 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535081727, 1
EAEZ50B172E. 2
EAE35061729. 3
BAE35081730. 4

Question Number : 109 Question Id : 64635015708 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statements are true for a ‘crowd’?
(a) Itis a temporary gathering of people.

(b) The group lacks leadership.

{c) The people have a purpose for coming together.

{d) The mind of the group is generally rational.

Choose the comrect answer from the codes given below .

1. (a), (b)and (c) are comect

>

(b}, (c)and (d) are comect

ek

(a), (c) and (d)are correct
4. (a), (b) and (d)are comect

Options:

64535061731, 1
64535061732 2
4835081732 2
4535081734 4

Question Number : 109 Question Id : 64635015708 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635061731, 1
64535061732 2
64535061733 2
48350817324 4

Question Number : 110 Question Id : 64635015709 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following committees have estimated population “Below Poverty Line” in
India?

{a) Mukherjee Committes

(b) Tendulkar Committee

{c) Rangarajan Committee

{d) Prasad Committee

Choose the comrect answer from the codes given below :
1.  (b)and {c) are comect
2. (a) and (d) are comect
3. (a) and (c) are comect

4. (b)and (d)are correct
Options:
64535081735 1
648350681736 2
64535061737, 5
E4E250E81738. 4

Question Number : 110 Question Id : 64635015709 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64635061735, 1
64635061736, 2

BAE35081737. 3
64535061738, 4

Question Number : 111 Question 1d : 64635015710 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statements are correct about the drug ‘cocaine’?
(a) Itisa central nervous stimulant.
() It canses physieal dependence and withdrawal symprom.
(e} Itwas formerly used as a potent local anaesthetie.
(d) Itisa very ancient dmg obtained from Cannabis safiva.
Choose the correct answer from the codes given below :
1.  (a) and (d) are correct
2. (b)and (c) are correct
3. (2) and (c) are comrect
4. (b) and (d) are correct
Options:
E4525081739. 1
64525081740 2

64535061741, 3
4535081742, 4

Question Number : 111 Question Id : 64635015710 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635061739, 1
4835081740 2
64535061741, 5
64535061742, 4

Question Number : 112 Question Id : 64635015711 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Basic activities in management include the following :
{a) INeed assessment
(b) Planning
(c) Ewaluation
(d} Monitoring
Choose the correct answer from the codes given below :
1. (a) and (d) are correct
2. (b)and (c) are comect
3. (a) and (c) are correct
4. (b) and (d) are comect

Options:

64635061743, 1
64535061744, 2
64535061745 =
64535061746, 4

Question Number : 112 Question 1d : 64635015711 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4835061743, 1
64535061744, 2
64535061745 5
64535061746, 4

Question Number : 113 Question Id : 64635015712 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following are “water washed diseases™?
{a) Typhoid
(b) Trachoma
{c) Scabies
(d) Hepatitis A
Choose the correct answer from the codes given below -
1. (a) and (b) are comrect
2 (c) and (d) are correct
3. (b)and () are correct
4. (b) and (d) are comect

Options:

64535061747, 1
64535061748, 2
4835081749 2
4535081750, 4

Question Number : 113 Question Id : 64635015712 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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BAE35081747. 1
64535061748, 2

64535061749, 3
EAE35081750. 4

Question Number : 114 Question Id : 64635015713 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Group appreach in communication include the following methods in health -
{(a) Group discussion
(b} Panel discussion
{c) Folk methods
(d) Personal letters
Choose the correct answer from the codes given below !
1. (a) and (b) are comect
2. (c) and (d) are comect
3. (a) and (c) are correct
4. (b) and (d) are comrect

Options:

64635061751, 1
64535061752, 2
64535061753 2
64535061754, 4

Question Number : 114 Question 1d : 64635015713 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64635061751, 1
64535061752 2
4835081752 2
64535061754, 4

Question Number : 115 Question Id : 64635015714 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Elements of a "plan’ include

{(a) policies

(b} analysis of health situation

{(c) budget

(d) advocacy

Choose the comrect answer from the codes given below :
1. (a) and (d) are comect
2. (b) and (c) are comect
3. (a) and (c) are cormrect

4.  (b)and (d) are comrect

Options:

64635061755, 1
64535061756, 2
64535061757, 2
4835081758 4

Question Number : 115 Question Id : 64635015714 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635061755, 1
64535061756, 2
64535061757, 2
4835081758 4

Question Number : 116 Question Id : 64635015715 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Pre-placement examination is an example of which of the following levels of
prevention?

{2} Promarv prevention
(b) Secondary prevention
{c) Tertiary prevention
{d) Application of ergonomics
Choose the correct answer from the codes given below :
1.  {a) and (d) are comect
2. (b)) and (c) are comrect
3. (a) and (c) are comect
4.  (b)and (d)are correct

Options:

64635061759, 1
4835081760, 2
4535081761, 2
64535061762, 4

Question Number : 116 Question Id : 64635015715 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
f-wrade T Frafafae § 8 doum & frs w70 71 09 JEmam a7
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Options:

64835061759, 1
E4E350817E0. 2
64535061761, o
4535061762, 4

Question Number : 117 Question Id : 64635015716 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The mechanism of action of DMPA (Depot Medroxy Progesterone Acetate) includes
(a) suppression of ovulation
(b) cellular and biochemical changes in endometrium as a direct effect
(c) direct effect on production of cervical mucus
(d) affecting the sperm mobility, capacitation and survival
Choose the correct answer from the codes given below :
1. (a) and (d) are correct
2. (b) and (c) are comrect

(2) and (c) are comect

Ll

4.  (b) and (d)are comect

Options:

64635061763, 1
64535061764, 2
64535061765, 2
E4E350817EE. 4

Question Number : 117 Question Id : 64635015716 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535081762, 1
EAEZ5081764. 2
E4E35061765. 3
EAE3508176E6. 4

Question Number : 118 Question Id : 64635015717 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Chi-square test is used to test the significance of difference
(a) betweentwo proportions
(b) between twomeans
(c) betweenmore than two proportions
(d} betweenmore than two means
Select the correct answer from the codes given below :
1. (a) and {d) are correct
2. (b)and (c) are comrect
3. (a) and (c) are comect
4. (b) and (d)are comect

Options:

64535061767, 1
64535061768, 2
4835081769 2
E4E35081770. 4

Question Number : 118 Question Id : 64635015717 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535061767, 1
64535061768, 2
4835081769 2
64535061770, 4

Question Number : 119 Question Id : 64635015718 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Integration of AYUSH under NRHM includes
(a) compulsory Ayush Department in medical colleges
(b) supply of essential AYUSH drugs at subcentre
{c) placement of AYTUSH practitioners at PHC
(d) integrating AYUSH in emergency medical services
Choose the comrect answer from the codes given below :
1. (&) and (d) are comrect
2. (b)and (c) are comrect
3. (a) and (c) are comrect
4. (b)and (d)are cormrect

Options:

64635061771, 1
4535061772 2
64535061773 2
64535061774, 4

Question Number : 119 Question 1d : 64635015718 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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4. (b)) I(OFAE
Options:

64535081771, 1
EAEZE0B1772. 2
EAE35061773. 3
BAE350817 74, 4

Question Number : 120 Question Id : 64635015719 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Following indicators are linked to the target of ‘injuries and violence' included in
sustainable development goals

{a} Deaths due toroad traffic injunies
(b) Monality attributed to hazardous chemicals
{c) Suicide
{d) Homicide
Choose the correct answer from the codes given below :
1.  {a) and (d) are comect
2. (b)) and (c) are correct
3. (a) and (c) are comect
4. (b)and (d)are correct

Options:

64635061775, 1
E4E3S08177E. 2
E4E3E081777. 2
64535061778, 4

Question Number : 120 Question Id : 64635015719 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

EAE35061775. 1
BAE3508177E. 2
BAE35081777. 3
64535061775, 4

Question Number : 121 Question Id : 64635015720 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (A) - Allocation of adeguate resources to health is the singlemost important
indicator of political commitment.

Reason (R) : DPolitical commitment is indicated by proportion of GDP spent on
health.

Choose the appropnate option from the following :
1. Both({A) and (R) are true, and (E.) is the comect explanation of (A)
2. Both(A) and (R} are true, but (E) is not the correct explanation of (A)
3. (A)is true, but (R) is false
4. (R)is true, but (A) is false

Options:

64635061779, 1
4835081730, 2
646350617381, 5
64535061782, 4

Question Number : 121 Question Id : 64635015720 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535061779, 1
64535061730, 2
4835081721, 2
645350617352, 4

Question Number : 122 Question Id : 64635015721 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : Health education has to be planned in consultation with health
planners.

Reason (R) : [Itis planned in connection with a specific health program.
Choose the appropriate option from the following :
1 Both (A) and (R) are true, and (R) is the comrect explanation of (A)
2. Both({A)and (R) are true, but (R) is not the comect explanation of (A)
3. (A)is true, but (R) is false
4. (R)is true, but (4) is false

Options:



EAE35061783. 1
64535081784, 2
64535081785, 3
64535061756, 4

Question Number : 122 Question Id : 64635015721 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535061783, 1
4835081734, 2
4535081785 2
64535061756, 4

Question Number : 123 Question Id : 64635015722 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Assertion (A) : We cannot calculate incidence rate from case control study.
Feason (B} : Case control study is very time-consuming.
Choose the appropriate option from the fallowing :
1.  Both{A)and (R) are true, and (F) is the correct explanation of (A)
2. Both(A) and (RB) are true, bue (B is not the correct explanation of (A)
3. (A)is true, bue (R) is false
4. (R)is true, but (A) is false
Options:
64535081757, 1
648350681788 2

64535081759, 3
EAEZ5081730. 4

Question Number : 123 Question Id : 64635015722 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635061787, 1

£4635061788. 2

64535061759, 3
64535061730, 4

Question Number : 124 Question Id : 64635015723 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Assertion (A) : Facility-based maternal mortality rate at tertiary case level can be
more than at primary health care level.

Reason (R) : Itindicates poor quality of services at tertiary case level,
Choose the appropriate option from the following :

1. Both(A) and (R) are true, and (E.) 1s the comect explanation of (A)

bt

Both (A) and (R) are ue, but (R) is not the correct explanation of (A)
3. (A)is true, but (R) is false
4, (R)is true, but (A) is false

Options:

64635081731 1

64535061732 2

E4E350817393. 3
EAE350617394. 4

Question Number : 124 Question Id : 64635015723 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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EAE35061732. 2
64535081733, 3
645350817354, 4

Question Number : 125 Question 1d : 64635015724 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Assertion (A) © Tuberculosis is no mere a public health problem in develeped
countries.

Reason (R) : Control of tuberculosis in developed countries is attnbuted to
improved standard of living and preventive practices rather than
antituberenlar therapy.

Choose the appropriate option from the following :

1. Both(A)and (R) are rue, and (R) is the correct explanation of (A)

2. Both(A)and (R) are true, but (R) is not the correct explanation of (A)
3. (A)is true, but (R) is false

4. (R)is true, but (A) is false

Options:

64535061795, 1
64535061796, 2
4835081737, 2
4535081798, 4

Question Number : 125 Question Id : 64635015724 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535061795, 1
E4E35081796. 2
E4E35081797. 2
64535061798, 4

Question Number : 126 Question Id : 64635015725 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (A) :  Intvpical Indian diet, cereals are the most common source of protein.

Feason (R} : Cereals are the richest source of protein.
Choose the appropriate option from the fallowing :
1.  Both(A) and (B) are true, and (R) is the correct explanation of (A)
2. Both(A) and (R) are true, bue (B is not the correct explanation of (A)
3. (A)is true, bue (R) is false
4. (R)is true, but (A) is false

Options:

64535061799, 1
E4E35081800. 2
4535081801, 2
645350613802, 4

Question Number : 126 Question Id : 64635015725 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64635061799, 1
64535061800 2
64535061801, =
64535061302, 4

Question Number : 127 Question 1d : 64635015726 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Assertion (A) : The concept of “social weighting’ used in DALY studies values each
vear of life depending on age.

Reasen (R) @ Young age has more weight for each vear, as society is interested in
productivity,

Choose the appropriate option from the following :
1. Both{A) and (F) are true, and (R is the comrect explanation of (A)
2. Both(A)and (R) are true, but (R) is not the comect explanation of (A)
3. (A)is true, but (R) is false
4. (R)is true, but (A) is false

Options:
64535061803, 1
48350812804, 2



E4E35061805. 3
EAE35061806. 4

Question Number : 127 Question Id : 64635015726 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

45350681503 1
64535061804, 2
64535061805, o
64535061806, 4

Question Number : 128 Question Id : 64635015727 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Mateh List—I with List—II -

List-I List=II
(R.ehability tvpe) (Explanation)
(a) Mediecal rehabilitation (i) FEestoration of function
(b) Vocational rehabilitation {ii) Restoration of personal dignity
and confidence
(c) Social rehabilitation (i) Restoration of family and social
relationship

{d) Psychological rehabilitation (iv) Restoration of capacity to eam
livelihood

Choose the corect option from those given below :
1. @) @G (@il (d-Gv)
2. (@ ®)av); (i) (dr-GD)
3. (@ ®)Gi); (-G (d-Gv)
4 (@v); (i) (e (d-D

Options:

64635061807, 1
64535061808, 2
64535061809 =
E4E35081210. 4



Question Number : 128 Question Id : 64635015727 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
-1 %1 g1 3§ gRfea Fifen
e -1

(AT 1 5 (ST
() Rfrwsn gt () @ e S A
(b) wHTEER® A () cafemTa siaE od i = dten
(c) S gt iy el o o o o e
(d) WS garE (iv) il @ s &1 ane sTwE

feu m Rl # # oft &1 9ga i

1 (@i} G (i), (d-(v)
2. (i) (biv); (e)din), (d(i)
3. (aX Gy ()G (dHGv)
4. @rGv) Ga) (-G) (d)-G)

Options:

C4E2E081807. 1

CAEZENE1E08. 2

E4E35081808. 3
EAE35061810. 4

Question Number : 129 Question Id : 64635015728 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange the following diseases in ascending order as per their maximum incubation
peniod :

1. Meningococecal meningitis, influenzae, hepatitis B, whooping cough
2. Influenzae, meningococcal meningitis, whooping cough, hepatitis B
3. Influenzae, whooping cough, hepatitis B, meningococcal meningitis
4. Influenzae hepatitis B, meningococeal meningitis, whooping cough

Options:

E45350515811. 1

B4AG35081812. 2

64535061812, 3
45350815814, 4

Question Number : 129 Question Id : 64635015728 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535061511, 1
E4E35081812. 2
4535081812 2
64535061514, 4

Question Number : 130 Question Id : 64635015729 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Amange the vanous national health programs in chronological order (from the earliest
to the most recent one) |

1. [National Malaria Control Program, National Leprosy Control Program,
National Tuberculosis Program, National AIDS Control Program

2. National Leprosy Control Program, National Malara Control Program,
National Tuberculosis Program, National AIDS Control Program

National Malaria Control Program, National Tuberculosis Program,
WNational Leprosy Control Program, National AIDS Control Program

Lad

4 Narional AIDS Control Program, MNational Tuberculosis Program, Narional
Leprosy Control Program, National Malaria Control Program

Options:

64635061815, 1
E4E3E5081E816. 2
645350613817, 5
64535061818, 4

Question Number : 130 Question Id : 64635015729 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35081815. 1
E4E35061816. 2
E4E35081817. 3
64535061815, 4

Question Number : 131 Question 1d : 64635015730 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Amange the following institutes according to vear of establishment, from earliest to
most recent :

1. Central Leprosy Teaching & Research Institute, Chingleput, Madras
(CLTRI); National Institute of Communicable Diseases (reconstituted from

MII), Delhi (NICD); National Tuberculosis Institute (NTI), Bangalore;
Central Malaria Bureau (CMB), Kasauli

2. NTI, NICD, CMB, CLTRI
3. CMBE, CLTRI, NTI, NICD
4. NICD,NTI, CLTRI, CMEBE
Options:
6453506158191
G4AE3E061820. 2

E4EZ5081821. 3
EAEZ5061822. 4

Question Number : 131 Question Id : 64635015730 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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FITg :

1. #om ddiEf Afn i fad fmee, e @ T & aR ),
T TRICIE HIF S-ean (TR 315, 3m3. 9 s, fEwh
. . 2 T g SR . A, o), F don wefm
=l (@, vA A1), FEeh

2, mTE E FAE . SR e e e
T 2= e R - P - R -1
RN = ) e A M | | - 1 A

Options:
42350681519, 1

EAE35061820. 2
E4E35081821. 3
BAE3508182%. 4

Question Number : 132 Question Id : 64635015731 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Amange Health Committees in chronological order from earliest to most recent one :

1. Mudaliar Committee, Jungalwalla Committee, Chadha Committee,
Shrivastav Committee

2. Mudaliar Committee, Chadha Committee, Jungalwalla Commirttee,
Shnvastav Committee

3. Chadha Committee, Mudaliar Committee, Jungalwalla Committee,
Shrivastav Committes

4, Jungalwalla Committee, Chadha Committee, Mudaliar Committee,
Shrivastav Committee

Options:
64635061823, 1
E4E35081824. 2

EAE35081825. 3



EAE3I5061826. 4

Question Number : 132 Question Id : 64635015731 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fraftfas amea sifad = woifts st S st sryfe & so.en d aafiue Fif:
1. i aff, e afufy, g aff, s ol
2 e wff, oy A, s aftfy, st sfify
3. g HiHfa, et aibfe, sreaaren ikl e afbfa
4. e Sff, ag SR, geET aR, sharea SRR

Options:

E4E35061223. 1
64535061824, 2
64535061825, o
64535001826, 4

Question Number : 133 Question Id : 64635015732 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arvange the following legislations according to chronological order, from earliest to
most recent

1. Child Mamiage Restraint Act, Immoral Traffic Act, MITP Act, Prenatal
Diagnostic Techniques (PNDT) Act

2. Immoral Traffic Act, MTP Act, PNDT Act, Child Marriage Festraint Act
3. MTP Act, PNDT Act, Immoral Traffic Act, Child Marriage Restraint Act
4. PNDT Act, MTP Act, Immoral Traffic Act, Child Maniage Restraint Act

Options:

E4AE250815827. 1

EAE35061828. 2

64535081825, 3
64535061820, 4

Question Number : 133 Question Id : 64635015732 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frafafas faa =1 oaffis weis @ waifis ayfe & sm-an 7 anfer Fif sk o
He B U BITAL :

1. o faars sy afifm offes amow (Framm) sfufaos mi =1 fafearsita
wre @, &, R i mfornof e e @ T3 wfey o @
1. 2 g

2. ATas waR (Far sfafm, m  Rieaeta ma g & 9 sififam,
0. 7. 2. &, sfufom, e faog sty sfafam

m 71 Fafaeto some @ A 9 sfifms §. 9. 8. 8. afafs adifas
sfufram

o

=R (Hrawm) sfafran  a R sy
4. 0w g & st of @ Gieesn gae a8 &) sfufas snfes
TR (Fam s, | a e saiy sfafay
Options:

B4E35081827. 1



EAE3506182E. 2
B4E35081825. 3
E4535081820. 4

Question Number : 134 Question 1d : 64635015733 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match List—I with List—IT :

List-I List-II
{Components) (Process)
{a) Sender i}  Audience
(#) Receiver (i) Source
{c) Message (i) Medium
(d) Channels (iv) Content

Choose the comrect option from those given below :
1 i) Gk () (d-iv)

(a)-G); (b)-(ui); (cHGv); (d)-@)

3. (), i) (-G (dHiv)

4. (@) ()= (ev): (d)-in)

bt

Options:

46350615851, 1
64535061832, 2
64535061833 2
64535051834, 4

Question Number : 134 Question 1d : 64635015733 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Hoi-1 ®1 gei-11 9§ gafem sifog :
-1 =11
(HHes) (uiferam)
(a) & i st
(b) WAl ) H
(c) wem (i)  WEw
(d) ==a (v)  ofFde
feum faedl # 8 98l TR 1 S FaE;

L (@) M) ()-Gi); (d-(v)
@Hi); i), (-Gv); (d-0
(@ii); (b)-Gi). (-G (d-iv)
4. (@), ()0 (e-Gv); (d)-Gii)

F-\J

!-.J.l

Options:
64635061831, 1



EAE35061832. 2
E4E535061833. 3
64535081824, 4

Question Number : 135 Question Id : 64635015734 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match List—I with List—II :

List=I List=II
{a) Focus group discussion i Sociodrama
(b) Roleplay (i) Sociogram
(c) Svmposium (i) A series of speeches on a

selected subject by experts

(d) Lecture (iv)  Chalk and talk

Choose the comrect option from those given below :
1. Q@) ) ()=Gil); (d)-iv)
2. (@i i), (e, dH-iv)
3. @A) ®iv); (i) (@)
4. @Hiv) (b)), (e)i); (@)
Options:
64535061835, 1
EdE35081836. 2

E4535081837. 3
EAEZE08183E. 4

Question Number : 135 Question Id : 64635015734 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

a1 @) G-I & gt S
Tt-1 -1
() THfEE 749 (Gee g ) () THE AT (@
(b) S HEE @ W) (i) HEE HEE (T
(@ uf=af i i) Tt fredl w e &
ST HIET
(d) === iv) Tetsds
fam o fameat & & 96 I &1 909 S

Lo @G 0 (e-G); (d-Gv)
2. (arG) ()G (-Gl (d-Gv)
3. (arQu); (b)Gv) (-G (d)-0)
4. @r0v); (o)), (-G (d0)

Options:
64635061835, 1



EAE35061836. 2
EAE35081837. 3
E4E535081825. 4

Question Number : 136 Question 1d : 64635015735 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match List=I with List=II -

List-I List-I1

(Term) (Example)
{a) Ewaluation of structure {1} Increasein expectation of life
(b} Ewaluation of process (i) Ewvaluate manpower with

accepted standards
() Ewvaluation of outcome (i) Nursing audit

(d) Ewvaluation of impact {(iv) Decrease in disease rate

Choose the corect option from those given below ;
1. (@G (i) (eGii); (d-{v)
2. (aHi); (), (e vy (i)
3.0 (a(); (bGv); (i) (dH{i)
4. (@r0v) (b)-G): (eGi); (d)(Gid)
Options:
4535081529, 1
4525081540, 2

64535081841, 3
EAEZ5081842. 4

Question Number : 136 Question Id : 64635015735 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

-1 =1 -1 | gafta Fifom
eI g1
(@) (SETEX)

(a) T ® gEgiE () oesiwammd g

(b) Wihan @1 geaie i) iea AFS! B weEa
EELIESEIR R EE

(¢ Frd =1 gmaies i)  fEn sifee
(d) WHIE F T (v) Hmd e d finmee

fan T fasadi § 3 w8 39 &1 909 S0
Lo @HG) G (G (d-Gv)
2. (@) (oG (e-iv) (d-G)
3. (@) (v (-6 ()
4 (@) ) () (d)ii)

Options:



EAE35061839. 1
64535081840, 2
E4535081841. 3
64535061842, 4

Question Number : 137 Question Id : 64635015736 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match List—I with List-II -

List-I List—I
(Term) (Meaning)
(2) Emporiatries (i)  Firing job to the worker
(b} Epomirthie (i) Secienece which aims te improve the

genetic endowment

(c) Ergonomics (iii) The science of the health of travellers
(d) Eugenics (iv) An outbreak of disease in a bird
population

Choose the comect option from those given below
1 (a)i) )G (e)Gii); (dy-Gv)
2. (a)Gi)y )Gy (e)-Gv); (d)-G)
3. (a)=(id); )=Gv); (=0 (d)=GD
4. (ayivk (b)) (eGi); (d)=Gii)
Options:
64535061543, 1
64535051544, 2

E4dE25081845. 3
E4EZ50E154E. 4

Question Number : 137 Question Id : 64635015736 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



-1 F1 g1 | gRfoa Sifen

-1 11
(T=) (3rt)
(a) wmifries i  =ite & Ry gegs T
@) TR @ e R e st g B
H FE BT
(¢) wiATHaEd (i) Wil & e gEd e
(d) e Gv) ofdmi d I vE g
feu o fwedl # 9 HE ST ®1 99 Sy

L @0 GG (@G (@-Gv)
2 @) GG (©-Gv): (-0
3. @G BV (-6 (@)
4 @GV BHD: (-G ()G

Options:
E4E3E08154=2. 1

E4E35061844. 2
E4E35061845. 3
B4E35061846. 4

Question Number : 138 Question 1d : 64635015737 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match List—I with List-II :

List=I List-II
(Mame of Constituent) (Method of Contraceptive)

(a) Levonorgestrel-20 (LNg 207 (IMirena) i Pill
(b} Norethisterone-enanthate (WNET-EN) (i} Intrauterine device
() Nonoxynoel-9 (iii) Injectable

(d) Gossypol (iv) DBarer

Choose the comrect option from those given below ;
1L a0k (oG ()-Gii); (d-av)
2 (@) (e ()-iv), (d-0)
3.0 () (bHivy (e)-[); (i)
4. {@Hiv) D () (i)
Options:
45325081847, 1
C4ds3E0s1848. 2

64535061849, 3
E4E35081850. 4

Question Number : 138 Question Id : 64635015737 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 & FEi-11 & gafta Sty

-1 11
(Hoes B mifues @ fafiy
(2) errfeE-20 @, w5t -20) R @ e
®) FRoREA-EEe e NET-E . N () sinmied e
(c) AfRaifaita-g @) ¥ cawE
(d) iiiafe Gv)  wufur Aft
feu Ty fwedt # 9 w8 I &1 999 S

Lo (@ )G (eGii) (d)y-Gv)
2. (a): (i) (e)-Gv) ()
3. (@) (Xav) (e)-i) (drH-i)
4. (@) (o)) (ei); (d)ii)

Options:

4835061347, 1
E4E3E5081848. 2
64535061849, o
64535061850, 4

Question Number : 139 Question Id : 64635015738 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
March List—I with List—II :

List-I List-II
(Light Measurement) (Recommended Unit)
{a) Brightness luminance i) Lumen
(b) Illumination illuminance (ii) Lamben
{c) Luminous intensity (i) Lux
(d) Luminous flux (iv) Candela

Choose the correct option from those given below :
L (@) )G (e)(il); (d)iv)
2. (ai) ()G (eHiv): (d-0)
3. (i) (b)Gv) (e)-a) (d)Gi)
4 (v (o)) (e (d)—(ii)
Options:
645350615851, 1
4835081852 2

64535081852, 3
EAEZ5081854. 4

Question Number : 139 Question Id : 64635015738 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 %1 -1 & g S

-1 -1
(T F A (Fawifem 2 78 g97E)
() RGO EEeEEiAT @)
®) WS i e @ e
(c) ity e s (i) o=
(d) ey (TS ) (iv) HfEen

fau T fasedl A | We1 OTH &1 909 Sy

Lo (a(): (o)) (erii); (dy-iv)
2. () (i (v (d-m
3. (ari) ()Gv) (e-G) (d)-G)
4. (@r0vy ®)G); (e)-i) (d)-(ii)

Options:

646350615511

6435061552 2

64535081852, 3
EAE35061854. 4

Question Number : 140 Question Id : 64635015739 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
March List=I with List=II :

List-1 List-I1
(Local Self Govemnment Institution) (Population of Area)
(a) Block development office (i) Above 2 lakhs
(b) Town area committee (i) B0000=120000
{c) Municipal board (i) 5000-10000
(d) Corporation (iv) 100002 lakhs

Choose the comrect option from those given below :
L (@ayQ) (b-G) (G, (d-Gv)
2. (a)(); (i), (cliv), (dH-0)
3. {aHi)y (i) (e)ii); (d)ii)
4. (ar(v) (o)) (), (d-iD
Options:
C4AE2E081855. 1
C4dE2E081856. 2

64535061857, 3
64535051858, 4

Question Number : 140 Question Id : 64635015739 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 = g1 & gakm S

-1 -1
(e e dwr (&7 F FEEm
(a) Vs s Fam G 2wEdaivs
() =re v wfafe (i)  80000-120000
(c) Tt &rd i)  5000-10000
(d) "RETH Gv)  10000-2 T
fem vy fmsedt & & Wl o = 999 Sy

L (G (ei); (e)-Gii); (d-Gv)
2. (aGi); (i), (e)iv); (dHi)
3. (@) vy, (epHiid); (i)
4. (aHv) (b)), (e)id), (d-i)

Options:

64635081855, 1

E4E835081856. 2

EAE35061857. 3
E4E35061858. 4

Sub-Section Number: 2
Sub-Section Id: 646350747
Question Shuffling Allowed : Yes

Question Id : 64635015740 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label | Comprehension

Directions :  Fead the following passage and answer the questions (Q. Nos. 141 te 145)
given below :

Paragraph-I

‘Mrs. ABC® is 28 wears old, currently married woman. She has l-wear-old gid child,
delivered by normal wvaginal delivery. The baby is breastfed with weaning started at the
appropnate age. She (client) has resumed her menstruation & months after deliverv. Since
then, her menstrual periods are regular, painless and with moderate amount of bleeding for 3—
4 davs. She has no history of anv lower abdominal pain till now. She visited the MCH elinic
and was advised regarding spacing methods. After having understanding about all options
available, she opted for Cu-T 380 Ag insertion at appropriate time. After one month, she
presented to the hospital with complaints of buming while passing urine, inereased frequency
of urination, low backache and discharge per vaginum since one week, Examination revealed
greenish frothy discharge per vaginum with normal cervix. Bimanual pelvic examination was
also normal. She was treated as per standard reatment protocol for symdromic management
of BTL. Patient improved with the treatment.

Sub questions

Question Number : 141 Question Id : 64635015741 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The pregnancy rate (%) in first vear of use of Cu-T 380 Ag is

1. 0-3-0-8

2. 02

3. 1-3-16

4 23
Options:

E4E35061859. 1
EAE35061860. 2
E4E35081861. 3
EAE3508186%. 4

Question Number : 142 Question 1d : 64635015742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The most appropriate time for Intra Uterine Deviee (IUD) insertion is during
menstruation or within ten (10) davs of the beginning of a menstrual period, because

(a) pregnancy is raled out
{(b) chances of infection are minimum
(c) technically easv toinsert
(d) lesser amount of bleeding will occur
Codes :
1.  (a) and (d) are comrect
2. (b) and (c) are comrect
3. (a) and (c) are correct
4. (b)and (d) are correct
Options:
4535061863, 1
EAE35061864. 2

EAE35061865. 3
EAE3506186E. 4

Question Number : 143 Question Id : 64635015743 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The pre-packed colour coded kit provided by AIDS Contral Seciety for syndromic
management of vaginitis has colour code

l. Green

2. Red

3. Blue

4. Yellow
Options:

BAE35081867. 1
64535081868, 2
64535061869, 3
4535081870, 4



Question Number : 144 Question Id : 64635015744 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

All of the following contraceptive methods can be advised for a nursing mother while
breastfeeding, without medical supervision, except

1. bamer contraceptive

2.  intra utenne device
3. combined pills

4. progestogen-only injectables

Options:

64635061871, 1
E4E3S081E72. 2
646350613572, 5
4535061874, 4

Question Number : 145 Question Id : 64635015745 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In the context of the case discussed above, all of the following are included in the

management of this patient according to guidelines for svnchronic management of RTI,
axcept

1. wet mount microscopy of the discharge for identification of caunsative
Organism

2. inj. Benzathine penicillin, 2'4 million unit I.M. after test dose
3. advise abstinence during the course of treatment

4. treat current partner only if no improvement after initial treatment

Options:

645350615875, 1
64535061876, 2
E4E3S081E877. 2
4535061573, 4

Question Id : 64635015740 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehension

Frdw . Profefam i F1 o= 3 ofte ok 12 o m sl @ = 141 3 145) F o e -
Tee-1

siwdtu &t &t 26 od 31 uF TalRaiea #fgm £ % ve o @1 ue o= & e o 9w vea
TR g3 81 O = A & gy W g 8 R Wy § 9ue W-am 9 99 W OE e 2
et o, & . @) F1 v F I w8 F A Aife- o 21w g8 81 98 § 3w Aifhe-
ot Frafim, dtemd w @ ol sost smfy g @ a2 e @isve) oo & g 3-4 & &t
T8 21 or@ 0@ 9= g Sei diel @1 @13 sfoer 78 21 ss va. . va. +hfe v i o shaw
faferdi @@t Aus) <1 wome 9 78 Wi Suvs el W iR 99 F e 9N 96 i W
FIR-21 380 Ag T &1 iEw T 05 98 & UuI a8 sRaara # o i @amm % o e
% 995 | " ¥ d0H @eF B & aH-aK TeE yE € O S A it d g w2 ol
T | Wike O o B STE S W T F1 HE S e & WSy SR R S 5
w1 W W1 T A dfere wig @ oo S T 9 o, AL o, F Rt
AH= 5 AFE JUEH HIEISIE & SENE 5O (a1 T A 1 IuEn § my e



Sub questions

Question Number : 141 Question Id : 64635015741 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

B 2 380 Ag & VI & wur @ & sigt MR 2T (%) i B

1. 0508

2. 02

3. 153-16

4 23
Options:

E4E35081859. 1
E4E35081860. 2
E4E35061861. =
4535061862, 4

Question Number : 142 Question 1d : 64635015742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

2T geas (5arEa (315, g, 21) Ja-wiftd S &1 9aids Sugen 96g mihe- g & g
I i ue # gEend | 59 (10) BT & ey St srafy g & wife

(2) miurRuE guEm i wd 2
(b)  HEBHW B WU YATH B &
() Rt &4 d dF-1e =0 F 3EE &
(d) T HA TEEE BT &
T

L (@ 3R ()FHE

2. ®METEE

3 @R EEE

§. ) MR(OTRE
Options:

E4E350618E63. 1
EAE35061864. 2
E4E35061865. 3
EAE35081866. 4

Question Number : 143 Question 1d : 64635015743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



difasiy F Ao B USH Fdam Eead o giw S e W9 SR S8

FcmFmasam?
1. &1
2. @
3. Hien
4 dm
Options:

E4535061867. 1
64535061868, 2
E4E35081869. 3
EAE35061870. 4

Question Number : 144 Question Id : 64635015744 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Faftfea 4 1 e sl [t i seet sm wit sigae Rt & wm &t aos
fa Rfeasta witem & fedh wam soqad afte 5t & & Tedt &7

1w At @ s
2. T gevsy fEamw
3. wwans R
4. viGREGH-Fn g T
Options:
646350615871, 1
64535061872, 2

B4E35081873. 3
64535061874, 4

Question Number : 145 Question Id : 64635015745 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Iwe Ad & Hed A FmftfEe & | e aom sm weh o & o & fashie
e feenfEwt & sran, 39 wiw & SN @G- § i &

1. @N® dE S ugEH g 9 1 3 2T ogs et
2. wHiyw U (She) & U vy dwuge ot 2.4 faftms ofie e
™

3. SUER$ G Wod @ §ee
4. VNS ITEN & U S5 U T8 BH W 8 30AF T 1 STER S

Options:
45350681575, 1

EABE3S0E187E. 2
EAE35061877. 3
B4E35081875. 4



Sub-Section Number: 3
Sub-Section 1d: 646350748
Question Shuffling Allowed : Yes

Question Id : 64635015746 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehension

Directions :  Read the following passage and answer the questions (Q. Nos. 146 to 150)
given below :

Paragraph-TI

During 2006, at XYZ Primary Health Centre (PHC), catering to population of 45,000
following data was collected :

(a) Total 3800 blood slides for fever cases were collected.

(b} Total 680 slides were found to be positive including 340 for Plasmodium vivax (Pv)
300 for Plasmodium falciparam (Pf) and 40 for mixed infection.

Total Total bload slides Plasmaodium Plasmodium Mixed
population | collected for PS for MP vivax falciparum infection
45000 3800 340 300 40
Sub questions

Question Number : 146 Question Id : 64635015747 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What is the calculated value of Annual Parasite Incidence (API)?

1. 21000 population

b

8/1000 population
3. 151000 population
4. 1771000 population

Options:

E4E250815873. 1

E4E35081880. 2

EAE35061881. 3
EAE35061882. 4

Question Number : 147 Question Id : 64635015748 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What is the value of Annual Faleiparum Incidence rate based upon the scenario in
Paragraph-117

1. 66 per 1000 population

2. §-44 per 1000 population
3. 10705 per 1000 population
4. 15-11 per 1000 population

Options:
64635061883, 1
64535061884, 2

64535061885, 3



EAE35061856. 4

Question Number : 148 Question Id : 64635015749 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the value of Annual Blood Examination Rate (ABER) based om the given
scenario in Paragraph—1I7

1. B-44%
. 10-05%
3 15-11%
4, 17-80%
Options:

E4E35081887. 1
E4E535081888. 2
64535061889, 3
64535081830, 4

Question Number : 149 Question Id : 64635015750 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the value of slide positivity rare based on the above scenario in Paragraph-117?

1. 844%
2. 10-05%
3. 1511%
4 17-89%
Options:

645350618391, 1
EAE35081832. 2
EAE350618393. 3
E4E350818394. 4

Question Number : 150 Question Id : 64635015751 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What is the value of incidence of mixed infection based upon Paragraph-I17
1.  0-88 per 1000 population
2. 6-6 per 1000 population
3. 8-44 per 1000 population
4. 8-90 per 1000 population

Options:
6453506815595, 1

EAEZ5081836. 2
E4E35061837. 3
E4E535081838. 4

Question Id : 64635015746 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
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i : FraffEa o 1w & ofge R i R wit @ 9 146 F 150) F g difem -
TRI=-11

T4 2006 F SN 45000 F TGN F v, od. 9. mufhE wren S 9 Pafaiae offed vea
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Sub questions

Question Number : 146 Question Id : 64635015747 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
gt goatdt aMgaA (U W 375 &1 ufisien aF a7

1. 2/1000 s=s=0
2. 8/1000 WFEEN
3. 15/1000 w=sw=n
4. 1771000 S

Options:

64635061879, 1
64535061880, 2
64535061881, =
E4E35081882. 4

Question Number : 147 Question Id : 64635015748 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TE-11 & e ¥ R W affe wrdttm w1 o F A e &
1. 66U 1000 S8
2. 84491 1000 FsEm
3. 10-05 wfd 1000 s===m

4. 151195 1000 w=dam

Options:

64535061883, 1
E4E35081884. 2
4535081885 =2
645350613556, 4

Question Number : 148 Question Id : 64635015749 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TEiw-11 # By o ufrewy W snenid At v wid g (U 8. 3. $1F) ®1 0 e 7

1. 3-44%

2. 10-05%

3. 15-11%

4, 17-89%
Options:

E4535061887. 1
64535061888, 2
E4E35081889. 3
EAE35061830. 4

Question Number : 149 Question Id : 64635015750 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TEiw-11 # Y T Iude v W s e s uiaied & @1 AF a7

1. &44%

2. 10:05%

3. 1511%

4. 17-89%
Options:

6453506158391, 1
E4535081832. 2
E4E350818393. 3
E4E350618394. 4

Question Number : 150 Question Id : 64635015751 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TREr-11 % SR W i Swan s &1 9 e g7

1. 0-889RE 1000 S=5=m
2. 669 1000 sEEEm
3. 844wl 1000 S=H=

4. 890 9fF 1000 FEdEn

Options:

64535061595, 1
64535061896, 2
E4E35081897. 2
4535081898, 4



